Divide by 10% (F)

2.9 +10%=

9.36 + 10% =

3.5696 + 10% =

0.15 =+ 10% =

4,966 + 10% =

6.4+ 10%=

6.9 - 10% =

8.9 + 10° =

8.1+ 10%=

5.5+ 10% =

Find each quotient.

6.799 = 10* =

9.84 + 10% =

8.6 + 10% =

3.5943 + 10% =

2.8+10%=

8.92 + 10% =

4.7914 + 10% =

6.0989 +~ 10* =

5.272 = 10%* =

8.729 ~ 10% =
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Divide by 10* (F) Answers

2.9 +10%=0.029

9.36 +~ 10% = 0.0936

3.5696 + 10 = 0.035696

0.15 + 10%=0.0015

4.966 + 10 = 0.04966

6.4 + 10° = 0.064

6.9 + 10> = 0.069

8.9 +~ 10° = 0.089

8.1 +10%=0.081

5.5+ 10 = 0.055

Find each quotient.

6.799 + 10* = 0.06799

9.84 + 10% = 0.0984

8.6 + 10> =0.086

3.5943 + 10% = 0.035943

2.8 +10%*=0.028

8.92 + 10> =0.0892

47914 + 10* = 0.047914

6.0989 + 10% = 0.060989

5.272 + 10%* = 0.05272

8.729 + 10* = 0.08729
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